
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.13     1) 

α)  
2 2 2α α 2 4    

β)  
22

2β β 8 64    

γ)    ο 1
α β α β συν α,β 2 8 συν60 16 8

2



          

δ)     
ερώτημα α) β) γ)

2 23α β α 2β 3α 6αβ αβ 2β 3 4 6 8 8 2 64 76                

ε)    
ερώτημα α) β) γ)2 2 2

α β α 2α β β 4 2 8 64 84           

5.13     2) 

α)   
2 22

α α 3 3    

β)   
22

2β β 2 4    

γ)   
3

α β α β συν α , β 3 2 συν30 3 2 3
2

 
           

 
 

δ)    
2

α α 2β α 2α β 3 2 3 3          

ε)    
2 2 2

α β α 2α β β 3 2 3 4 13           

5.13     3) 

α)   
22

2α α 3 9    

β)   
22

2β β 4 16    

γ)   ο 1
α β α β συν α , β 3 4 συν120 3 4 6

2

   
               

   
 

δ)      
2 2 2

α β α 2α β β 9 2 6 16 37           

ε)      
2 2 2

3α 2β 9α 2 6α β 4β 9 9 12 6 4 16 73               

5.13     4) 

α)   
22

2α α 1 1    

β)   
22

2β β 2 4    

γ)   
2π 1

α β α β συν α , β 1 2 συν 1 2 1
3 2

   
               

   
 

δ)    
2

α 2β β α β 2β 1 2 4 9            

ε)      
2 2 2

2α 3β 4α α β 9β 4 1 12 1 9 4 28             

 

 

 


